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3. The function f{x) = cot x is discontinuous on every point of the set

: V(A){x=(2n+l)2,ne2} it (B) {x= IITI:,I‘IEZ}
: - © '{4" % E’;ﬂez} (D) {x=2nm;n € Z}

If the function is f(x) = _}_2, then the point of discontinuity of the composxte nctio
y = fifx)) is

s 2 \ =2 1 5
ROSK- ®B) 3 ©)5 @) 5

tﬁ, 1_[t‘y’=-a'sinx+bcosx,theny2+(%f) is a

(ﬁ) function of x and y (B) function of x
(C) constant (D) function of y

- nn-1) , n@-1)@-2) .
Iff(x)=1+nx+ 3 X%+ 6 X+ "“I“thenf"(l):

C Wae-n2 B E- (oo '
® | (©) 2 (D) n (n - 1)2™2

1 andAB=IthenB=

- ®) £08° 03 AF ©) sin2 2. -




(C) 0.52 nem¥sec (D) 274m cm’/sec

—_— .'

8.  The distance ‘s’ in metefé travelled by a particle in ‘t’ seconds is given by s = 3
The acceleration when the particle comes to rest is | =
(A) 12 m¥sec. (B) 3 m¥sec. (C) 18 m¥sec. (D) 10 nrceSay

9. A particle moves along the curve TZ—G =+ % = 1. When the rate of change of abscissa is 4 ‘:

that of its ordinate, then the quadrant in which the particle lies is
(A) MorIv (B) IorIII (C) M or I1I (D) Il or IV

10. An enemy fighter jet is flying along the curve given by y = x2 + 2. A soldier is place&
(3, 2) wants to shoot down the jet when it is nearest to him. Then the nearest distance is

L | (A) 2 units (B) /3 units ©) \E units (D) '\/— 6 units
B 550
. @4 j | (B) 5 _ (©) 3 D) 6

(B) \sin x + C (C) _\T_-Ff;l-;+c (D)@.}.C
_ 2 '
_ =;_:_.I_;._..;‘.)aretwo flmct:onsmmg(x)= x- % and fog () = 43

Sthenfiy=
T '
© 1 >
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9. a curve passes through the point (1, 1) and at any point (x, y) on the curve, the
- the slope of its tangent and x co-ordinate of the point is equal to the y co-ordinate of the
- point, then the curve also passes through the point 3

i ® 2.2) ©O6Y)  ®ey

The degree of the differential equation

[ : 2 .2' 2 2
- @R

@1 ®) 6 © 2 C®3

Ifl—a’+-|;| =_|-§——l_:;| then

(A) 2 and b are coincident. (B) 2 and b are perpendicular.

(C) Inclined to each other at 60°. (D) a and b are parallel.

t‘,_
.
3

. The component of i in the direction of the vector i1 + 3\ +2k is

. @wes ® WOk I

al (0, n/2), area lying between the curves y = tan x and y = cot x and the X-axis
(B) 3 log 2 sq. units
(D) 2 log 2 sq. units

e et it
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26. The length of perpendicular drawn from the point (3, 1, 11) to the line 5 =""37=

[CVRVEERS (B) /66 © 53 D) V29

27. The equation of the plane through the points (2, 1,0), (3,2,—2) and (3, 1, 7) is

(A) 6x—3y+2z-7=0 (B) 3x—2y+6z—27=0
)by —=z-5=0 (D) 2x -3y +4z—-27=0
| —.. e .. ! 1+3 ___z+2

R 8. The point of intersection of the line x + 1 = 3 2 with the plane 3x + 4y + 5z=

(4) @.6,-4) B) (2, 6,~4) ©) @.6,4) (D) (2,-6,-4)

3@- If(2 3,-1) is the foot of the perpendicular from (4, 2, 1) to a plane, then the equation
* glase is | ;

(A) 2x-y+22 =0
(C) 2x+y+2z-5=0

(D) 2x+y+22-1=9

.........
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haded region in the figure given is the solution of which of the inequations ?

X'«
il

I-'ﬁ"'“yz'i' Zx 3y+620 x20,y>0




ﬁzw “tan rssa
lhﬂ 135° sin? 14° sin2-66°

' '(B..)' =1%o © 2 L :

s - 1+i)32d +3)
Th m ~fthe complex number Z=e)2-2) °

| % < (B) E © T (D) \2

n that 2, b and x are real numbers and a < b, x < 0 then

' b
® 3>3 © <3 ©®)

|

2

= @

= |o°

m are numbered as 1 to 10. Three women and two men wish to occupy one chair

¢ men choose the chairs from
ing. The number of posmble ways is -

(B) 6C, x 4C, (C) 5P, x i, (D) P, x P

Which 1 of the following is an empty set ?

(B) {x:-xz—l=0,xeR}
(D) {x:x2+1=0,x e R}- L




(B) are not in A.P. y
(D) are in G.P.

X sse s through (2, 2) and is perpendicular to the line 3x +y = 3. Its y-intercept is
| o S ik 2
(B 3 ©3 (D) 3

The @mwebetween the foci of a hyperbola is 16 and its eccentricity is '\E Its equation is -

. n_ 2 ( 0 08 2‘= . ' —x% = 5_2 ﬁ—
227 - 3y2 7  (B) 22— y°=32 ©) y2-x2=32 D =g}

L1

mn(b— F=sinQex) v
| = = A cos B, then the values of A and B respectively are

W 2, ! (B)'2,2 " () 1,.1

D 1,2

1 is even and the middle term in the expansion of (xz +

P -

R
E) 18 924 x5, then n is equal to

(D) 14
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- [0, ) - R are defined by ()

- % and gte) = . Which one.

Ty
—
i

(C) (gof) (42) =2 (D) (fog)(-H)=4 '
' LN

R —> R be defined by fix) = 32— 5and g : R > R by g(¥) = =, then gofis :y

3R | 325 352 , 3x2 -5
22-d @5 a2+ O oFeim?-2 D) 53 _6x2+26

S
o
1%

et the relation R be defined in N by aRb if 3a + 2b = 27 then R is

{(1,12),3,9), 5,6), (7, 3)}
{2 1,9.3),(6,5), 3. )}

| {(0-251} (1,12),3,9,6.6),0.3)

82, Letf(x)=sin 2x + cos 2x and g(x) = % - 1, then g(f(x)) is invertible in the domain
5 (ﬁ)---*fﬁ [ 2 »z:l (B) x e [T. ﬂ ©C) xe [O, {{I , D) x [:812’ 1;_]

53 A ‘E’w;mnmapositive of the statement
i f‘;ftwe-lines do not intersect in the. same plane then they are parallel.” is
Jp: (A) If two lines are not parallel then they do not intersect in the same pl-a;le

E: Iftoni‘nes are not parallel then they intersect in the same plane ’W
- s f _J If two 11nes are parallel then they do not intersect in the same pl;ne -
| | Ifiwo lines are parallel then they intersect in the same plane, |
Space For Rough Work
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" ] then the value of x and y are

(B) x=4,y=3

(D) x=4,y=-3
*ﬁﬁ) AB (B) A+B ) 2BAS . - (D) 2 AB }
h_lz":' g = 1
g 2=k 2 2%
EREA=] 4 k is smgular matrix, then the value of 5k — k* is equal to :
B ) -4 ® 4 (©) 6 (D) -6 %

" The area of a triangle with vertices (- 3, 0), (3, 0) and (0 k) is 9 sq. units, the value of k s

y (;g bRz ®) 9 ©) 3 D)l a

_I'Jr L gl | .

E‘”, ﬁA =|1Db bZ and Al = | be «ca ab | then ‘,‘-
[Tl c? a'b ¢ |

;, J::., 2 ; i : o
(A) & #4 | (B) A=A © A =-A (D) A, =3A 't

1] i .'-[ I-’_‘-_‘_, : ; za 1_32 2x P
60, Ifsin-! |- Lo ek e R | ;
@: l:t'sm (l +a2) iy (l + -azj an (_1 —x2 ) where a, x € (0, 1) then the value of x is ]]

™ ® | =




